


Устный счёт

Устный счёт



Найди ошибки

Найди ошибки

57+8=63        87-20=53
62-7=58         90-48=28
             37+16=53
             42-18=27



0.1,2,3,4,5,6,7,8,9

1 10

9       99



По какому признаку можно разбить эти числа на две 
группы?

7, 38, 50, 6, 4, 78, 87, 92, 3,0

7,6, 4, 3, 0
38, 50, 78, 87, 92



Покажите «лишнее» число

83, 54, 49, 100, 32, 23, 94



ед.

ед.

ед.

Д.

С. Д.



Сот.            Дес.               Ед.

3                 7                   4

1                 2                   5

2                 3                   8



1дес. = 10ед.
1с. = 10 дес.
1с. = 100 ед.


